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1.

INSTRUCTIONS
IMMEDIATELY. AFTER THE COMMENCEMENT OF
THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY
UNPRINTED OR TORN:OR MISSING PAGES OR
ITEMS, ETC. IF SO, GET IT REPLACED BY A
COMPLETE TEST BOOKLET.
Please note that it is.the candidate’s responsibility to
encode and fill in the Roll Number and Test Booklet
Series Code A, B; C or D carefully and without any
omission or discrepancy at the appropriate places in
the OMR Answer Sheet. Any omission/discrepancy will
render.the OMR Answer Sheet liable for rejection.
You have-to enter your Roll Number on the Test Booklet
in the Box provided below. DO NOT write anything else
on the Test Booklet.

This Test Booklet contains 100 items (questions).
Each item is printed both in Hindi and English.
Each item comprises four responses (answers).
You will select the response which you want to
mark on the OMR Answer Sheet. In case you feel that
there is more than one correct response, mark the
response which you consider the best. In any case,
choose ONLY ONE response for each item.

If you decide not to attempt a question then darken the

corresponding circle below #.
S No.

11 ®® 00

Response #

. You have to mark all your responses ONLY on the

separate OMR Answer Sheet provided. See directions
in the OMR Answer Sheet. Use only BLUE/BLACK Ball
Point Pen to answer in OMR Answer Sheet.

All questions are compulsory. Each question carries
one mark. For each wrong Answer, one fourth (0.25)
mark shall be deducted.

Before you proceed to mark in the OMR Answer Sheet
the response to various items in the Test Booklet, you
have to fill in some particulars in the OMR Answer Sheet
as per instructions mentioned on the OMR Answer
Sheet.

After you have completed filling in all your responses
on the OMR Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only
the OMR Answer Sheet. You are permitted to take
away with you the Test Booklet, along with candidate
copy of OMR Answer Sheet.

10. Sheets for rough work are appended in the Test Booklet

at the end.
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In case of any ambiguity in translation of any question, English version shall be treated as final.
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| HINDI VERSION |
1wt @l ufey ofR faw o faeedt & @ @& TOX @1 99 B
FA-1: ST X (iron ore) & W &g AT Uo TI@ Hedl 91d & Td B TAisst & IAEA H 91 Jgad
fopan smar 31
Fom-11 . A feaifsre um: @ qaftes @eammel # 1 S €, sits 98 Jead: grars sa () & 99 2
(A) ®u-19F %, BUF - 11 3T &
(B) ®u-1 39 3, ®uF -1l 97 &
(C) T YT 9 & TF U - | & by - [1 areanig &dm &
(D) <Ff % 9 ¥ ud %A - | &l %A - 11 sreniid TE s @

qat iR ufyerdt Tre % Hed F e ¥ @ B 9w Wl ¥ 7

2. qdf =re & gar § ufyed g ufedse ¥ 99 ¥ wd eifawa 1@ )

3. erfueay wEd it @ Sata ufyad ae § )

4. el et wx gt ofik ufyed are we-gEX & frea ¥

A f T @S B ITERT Bk TRl IAT B IIT BT

(A) haw 1 @R 2 (B) haw 3 @R 4 (C) aw 1,233 (D) aw 2, 3 8 4

T, 2021 § SAU@vE % gEe e ¥ ufed omuer AR ¥ e ¥ ¥ B "/a wud ad 2R
1. TS TWRET S Uh 9RT T2 T ST AETE! BSR4

2. el i, fRelt T et ereeier Afedl ¥ foq % Hew ¥ ome 9@ o |

3. qUEA-TawTE TEsd dietee i fiel 1M ggsd Wsiae @l @us Jedr gol ol

T @ T BT B IUEN BB TE IALT BN T BT ¢

(A) aa | (B) Faw 1.8 2 (C) Fam 2@ 3 (D) 1,233

f@r ™ wuel @ ufew o fyw o fawedt & & @ 3AT @1 T At

Fo - 1 : fafren femamera wiar & o gfeg & <t fo6 smeos & @t & fog Swnl 31

Fo - 11 : fere faeett fredl ofie gat uaredf &1 f&ie (moraines) WX AIET 4Xd & &9 § SHIE &l HL@T Hed
g

(A) ®H-189F 8, ®e -1 o

(B) ®u-lcoma ¥, uv -1l 9a #

(C) <Fi ®u g € Td & - | &1 & - [ ey & &

(D) < BUT GG € U B -1 Bl HYA - 11 Aeiia e Hiar @

Tam & AR A T otfiael F 9 B9 F W e

1. arg & SR qC TR § T w ¥

2. TOT & AR A P qrEdraen T JAb T8 e § |

3. gar A0 SUETHA BIA ATdl el il & ad WWAd: WIS arg b BIROT a9 el © |
4. T & I=gaq ST =gaw fogel @ wHen e ot /2w wer s §
T & T BlE B ST HH Gol I B TIT DI

(A) 1ar2 (B) 2 X3 (C) 334 (D) 134
HIUA B WH % STTAR MG b Soarg yaoft w1 A B
par iy | Fiem - 11
TAAG F THT e
1. BWhw A. STEUTEA LT
2. Dfc B. war ¥ o § wRa @1 ufyas a2
3. Amw C. ToRYN %1 999 gfyadl \m
4. As D. AHES & HRFsA
(A) 1-A, 2-B, 3-C, 4-D (B) 1-C, 2-D, 3-A, 4-B
(C) 1-C, 2-A, 3-B, 4-D (D) 1-A, 2-C, 3-B, 4-D
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ENGLISH VERSION
Read the statements and select the correct answer from the given options:

Statement - 1 : Manganese is an important raw material for smelting of iron ore and also used for
manufacturing ferro alloys.
Statement - I : Manganese deposits are found in almost all geological formations, however, it is

mainly associated with Dharwar system.
(A) Statement - I is True, Statement - II is False
(B) Statement - I is False, Statement - I is True
(C) Both Statements are True and Statement - II provides explanation to Statement - |
(D) Both Statements are True and Statement - Il does not provide explanation to Statement - |

Which of the following statements are correct about Eastern and Western Ghats"
1. Anaimudi is the highest peak in the Eastern ghats. "
2. Western Ghats are comparatlvely lower in elevation and less continuous than Eastern Ghats.
3. Most of the Peninsular rivers have their origin in the Western ghats.
4. The Eastern and the Western ghats meet each other at the Nilgiri hills.
Select the correct answer using the code below:
(A) only 1 and 2 (B) only 3 and 4 (C) onlyl,2and3 (D) only?2, 3 and 4

Which of the following statement/statements are correct about a disaster which struck Uttarakhand’s
Chamoli district in February 2021?
1. A portion of the Gangotri glacier broke off and caused havoc.
2. There was sudden flood in the middle of the day in the Dhauli Ganga, Rishi Ganga and Alaknanda
rivers.
3. Tapovan-Vishnugad Hydel Project and:the Rishi Ganga Hydel Project were extensively damaged.
Select the correct answer using the code below:

(A) Only 1 (B) Only.1 and 2 (€).. Only 2 and 3 (D) 1,2 and 3

Read the given statements and select the correct answer from the options given:

Statement - I : Sikkim Himalayas are famous for Karewa formations, which are useful for the
cultivation of Zafran

Statement - 11 : Karewas are thick deposits of glacial clay and other materials embedded with
moraines

(A) Statement - I is True, Statement - 1 is False

(B) Statement - I is False, Statement - 11 is True

(C) Both Statements are True and Statement - Il provides explanation to Statement - |

(D) Both:Statements are True and Statement - II does not provide explanation to Statement -

Which of the following echaracteristics are correct about waves?

1. Wind causes waves to travel in the ocean.

2. The actual motion of water beneath the wave is not circular.

3. Steep waves are not fairly young ones and are probably formed by local winds.

4. The highest and lowest points of a wave are called the crest and trough respectively.
Select the correct.answer using the code below:

(A) 1and2 (B) 2and3 (C) 3and 4 (D) 1and4
Match the climatic regions of India according to Koeppen’s scheme.
Column 1 Column II
Types of Climate Areas
1., "BWhw A. Arunachal Pradesh
2. Dfc B. West Coast of India south of Goa
3. Amw C. Extreme Western Rajasthan
4. As D. Coromandel coast of Tamil Nadu
(A) 1-A, 2-B, 3-C, 4-D (B) 1-C, 2-D, 3-A, 4-B
(©) 1-C, 2-A, 3-B, 4-D (D) 1-A, 2-C, 3-B, 4-D
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| HINDI VERSION |
“ARHTen aREisEr & @69 ¥ e 8 § B9 9yd su9 98 2R 7
1. 9% A9 #15d W Ryd da@ w1 &1 s afe 5=/ ofsx st ara i & afteea T & 2|
2. g dMmEdl &E % G5k goid & faee U @fd §1
3. g% A U@ SETTEl B G5H W WS Afed qod GBI b {Jbrd X AT ¢ |
4. & UEH TR B BEEHT § U 9T @M § |
A f T @S B ITART BLh TRl IAC B IIT BT
(A) Faw 1,233 (B) &Haw 2,384 (C) Haw 1,284 (D) 1,2, 3 a4

Hiem -1 9 fgu U 9t & AW B wem - 1 A U T & gy e S

Eacu i | Ftem - 11
1. ¥@ER g0 A. HEMQ
2. WX B. =Ed
3. TPs C. &l
4. wTEEE D. =gt
(A) 1-D, 2-B, 3-C, 4-A (B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C (D) 1-D, 2-C, 3-A, 4-B

YT Py A GeEr & ded § fre F § B wg wus a9l 3R 7

1. 38 & @Y W RiaE o Fag & afhawn (efasia) wiia g aiH fear = an

2. ghfyaa faE & siqid Wdia™s & & IeETl

3. WM A @I q@dr § U BTl

4. GAq (QEASH) A G0 g B AL B

T & T ®Is B ITAN HIh T IAL BN TG DT ¢

(A) Faw 1,283 (B) SHaa 1,24 (C) Faw 2,334 (D) 1,2, 34

Hiew - 1 ¥ fGu 7u v & 9 @ dieH - 1A < IR aeier & ey e eif)

e - 1 oM - 11
1. o™ A. SIEHl @6 X
2. wEE™ B. @ &l &R Aol weredl @ i
3. TOETS C. TigH o &gl
4. &H@A D. <aqf
(A) 1-B, 2-A, 3-D; 4-C (B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D; 3-A, 4-C (D) 1-D, 2-C, 3-B, 4-A

e w1 afen ofik fiw o fysedl & 9 @& IR &1 T ST ¢

FUF - | : aYHSAI TGl % YATE UEH Bl AigHSAE AT GiEEl Hel S e |

FU - 11 : argHsd BT GHR 9T CaeT HETERTOA S| i TOHH HTdT &, Siih AT Sl STaary Bl THIad S |
(A) HIT-19F &, B9 - 11 3@

(B) ®uv-1 o™ ¢, Hud - 11 99

(C) < Bu dT & U B - | & %o - [1 areniid &ear &

(D) i ®YF g9 T Td b - | By By - [ ety TE dian §

AT @2 & Gaoq & ged & fre & 4 &9 Q@ wuw 98 3R ?

1. 9RdE e ¥ yHEda qRd o erefuard Herdnde wmr enfhe ¥

2. TeuTe™ & WIY-G1Y Ul W el GESH S, 39! v €1 Ui wiar § — S qerahg-Aera g
AT b ®H T

3. qd faom #, =R % UlAAMT Uedl ¥ B0 5T UH 919 & E H SG1 W5 qb el goll & |

4. qfyeHr G qiiehe @l feRte SPwl @1 SIgERT wadr © |

T 5 T BT B I Bk GE SAL BT TG BT

(A) ¥aw 1,28k 3 (B) Haw 2,334 (C) Haw 1,334 (D) Haa 1,24
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Which of the following statement/statements is/are correct about Bharatmala Pariyojna?
1. It envisages replacement of level crossing on national highways by road over briges/road under
bridges.
2. It aims to develop the road connectivity to border areas.
3. It aims at development of coastal roads including road connectivity for non major ports.
4. It aims at the improvement in the efficiency of national corridors.
Select the correct answer using the code below:
(A) 1,2and3only (B) 2,3and4only (C) I1,2and4only (D) 1,2,3 and 4

Match the name of the Dams in Column - I with the river in Column - I1.

Column -1 Column - II
1. Sardar Sarovar A. Mahanadi
2. Mettur B. Chambal
3. Hirakud C. Kaveri
4. Gandhi Sagar D. Narmada
(A) 1-D, 2-B, 3-C, 4-A (B) 1-C,2-D, 3-A, 4-B
(©) 1-B, 2-D, 3-A, 4-C (D) 1-D, 2-C, 3-A. 4-B

Which of the following statement/statements is/are correct about Pradhan Mantri Krishi Sinchayee
Yojana?
1. It was launched to achieve convergence of investment in irrigation at the field level.
2. Expand cultivable area under assured irrigation
3. Improve farm water use efficiency
4. Introduce sustainable water conservation practices
Select the correct answer using the code below:
(A) onlyl,2and3 (B) onlyl,2and4 (C) only2,3and4 (D) 1,2,3 and 4

Match the name of the state given in Column - I with the phrase given in Column - II.
Column - 1 Column - 11

1. Assam A. Abode of Clouds
2. Meghalaya B. Land of Red River and Blue Hills
3. Uttarakhand C. God's Own Country
4. Kerala D: Land of the Gods
(A) 1-B, 2-A, 3-D; 4-C (B) 1-C, 2-D, 3-A, 4-B
(C©) 1-B, 2-D; 3-A, 4-C (D) 1-D, 2-C, 3-B, 4-A
Read the given: statements and:select the correct answer from the options given:
Statement - T : The pattern’ of movement of planetary winds is called general circulation of the
atmosphere.
Statement - 11 :+. The general circulation of the atmosphere sets in motion the ocean water circulation

which influences the earth's climate.
(A) Statement - | is. True, Statement - II is False
(B) Statement-1.is False, Statement - II is True
(C) Both Statements are True and Statement - II provides explanation to Statement - |
(D) Both: Statements are True and Statement - I does not provide explanation to Statement - [

Which .of the following statement/statements is/are correct about the movement of the Indian plate?
1. «/The Indian plate includes Peninsular India and the Australian continental portions.
2. The subduction zone along the Himalayas forms the southern plate boundary in the form of
continent- continent convergence
3. In the east, it extends through Rakinyoma Mountains of Myanmar towards the island arc along the
Java Trench.
4. The Western margin follows Kirthar Mountain of Pakistan.
Select the correct answer using the code below:
(A) Only1,2and3 (B) Only2,3and4 (C) Onlyl,3and4 (D) Only 1,2 and 4
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| HINDI VERSION |

¥ ¥ B /A AT G FR)

e &5 7 ¥ gard fawfad B ¥
, SIS, Wiehe 3 Hieaad & WYX el 1
Wﬁn’mﬁ SUANT &g 32 6 WU H 3T YaTel W HeE AG w9 & fHAr S §
T&I ¥4 ¥ WA Yo & 9o &l H fawtad g3 2|
@ﬁgmmmﬂﬁwwwaﬁﬁq
aft 2 (B) 3 a4 (©) 1,283 (D) 2,334

A1 & e a1l & | By
T -1 T - 11
A. 997 ®<9H, 1989/1992 [ fawem (ufdee) simite ggus
B. eEH &<eH, 1998/2004 II. ¥EE I & GHUR AESE! Td Sl (SIS bl =T
C. fammr w=ig™, 2013/2017 . &S Hitee ® @UR & ga4y H 9 g giad o &
T ST 8
D. wimem &<eM, 2001/2004 IV. 5
A fiu U faeedl & @ @& AT & TU DI ¢
(A) AL B-II, C-1V, D-I (B) A-Il, B-III, C-1V, D-I
(C) AL B-II, C-I, D-IV (D) A-II, B-I, C-1V, D-III

TR @l 2011 Y SATOMT % STFEIT W b1 AT H 5 geres afeardi & auifehe fepam Tam &, erartd, 14 fas,
Zfas, eife-ufires, fae-sd ofik e — aiifess | 57 sTwrstt &l A arel @ 991 den $B uedt ¥ ur
S ¥ 1 ot g2 | @ fraw g l 11 % ary i

AR
_ B
T%

T - 1 (v wfEm) - IT (7= | FEamiea 9e9n)
A. =1 gUftEE L. oiig uaer, af@mTS, HAtes
B. zfys 1. /W, AR, Frmers
C. e — uimrfew L IAT waeT, Herrsg, fan
D. fa¥ar — s+ IV. se@ve, siifsen, Jemg
(A) A-IIL B-1, C-1V, D-II (B) A-Il, B-IV, C-I, D-II
(C) A-l, B-II, C-III, D-1V (D) A-1V, B-III, C-II, D-I
HHA &b G IGh SFU-IAED T BT U DT |
A NN SURE
A. WX 1. 9y yey
B. s 2. WIS
C. dmEd 3. TR
D. = 4. ufyaw €A
T feu U faeed ¥ @ 9ELSHT BT g9 T
(A) A4, B-2,C-1, D-3 (B) A-2, B-3, C-4, D-1
(C) A-3.B-4, C-2, D-1 (D) A-1, B2, C-3, D4
SEEET AR (SO 2011) & Fed § 9 Todl &l 98 H ¢ (Swaad § feay SeEeE)
(A) ST Wy, R, HewTse, ufyaw S (B) X WyT, uiyad e, Hewrse, fae
(C) SO Weyr, Welreg, uiyad e, faer (D) STR weyT, e, foer, ufyaq s
I UTh @l e 38 Tow € sifve fed o' R )
A3 T T
A. SEABTHH 1. qermr
B. #Her@dR &om aeear 2. Ew
C. FAHETH 3. Uy
D. s™h 4. BT WIS
A fw U fbedl § ¥ € SUR @1 GG I
(A) A-4, B-2, C-1, D-3 (B) A-3, B-1,C-4, D-2
(C) A-3,B-4, C-2, D-1 (D) A-1, B2, C-3, D4
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Which of the following statement/statements are correct about Laterite soils?

1. These soils develop in the areas with high temperature and low rainfall.

2. These soils are rich in organic matter, nitrogen, phosphate and calcium.

3. These soils are widely cut as bricks for use in house construction.

4. These soils have mainly developed in the higher areas of the peninsular plateau.
Select the correct answer using the code below:

(A) 1land?2 (B) 3 and4 (C) 1,2 and3 (D) 2,3 and 4
Match List I with List II
List I List II
A. Basel Convention, 1989/1992 I.  Persistent Organic Pollutant
B. Rotterdam Convention, 1998/2004 II. Control of Transboundary Movements of
Hazardous Waste and their disposal
C. Minamata Convention, 2013/2017 III. Facilitate informed decision making

by countries with regard to trade
in-Hazardous Chemicals

D. Stockholm Convention, 2001/2004 IV. Mercury
Choose the correct answer from the options given below:
(A) A-II, B-II, C-1V, D-1 (B) - A-II, B-IIl; C-IV, D-1
(C) AL B-II, C-1I, D-IV (D). A-11, B-I, C-1V,-D-III

According to Census of India, 2011, the languages of India are classified into 5 distinct families, namely,
the Indo-European, the Dravidian, the Austro-Asiati¢, the Tibeto-Burman and the Semito-Hamitic. Large
number of speakers of these languages are found in certain states. Hence match List I with List II :

LIST I (Language family) LIST 11 (States /-UTs)
A. The Indo-European I: Andhra Pradesh, Tamil Nadu, Karnataka
B. The Dravidian 1. Assam, Manipur, Nagaland
C. The Austro-Asiatic III. Uttar Pradesh, Maharashtra, Bihar
D. The Tibeto-Burman IV. Jharkhand, Odisha, Meghalaya
(A) AL B-I, C-1V, D-II (B) A-II, B-1V, C-I, D-III
(C) A-L B-II, C-lII, D1V (D) A-1V, B-III, C-II, D-I
Match the crop with the State that is its leading producer.
Crops Leading producer
A. Jowar 1. Madhya Pradesh
B. Bajra 2. Maharashtra
C. Rice 3. Rajasthan
D. Gram 4. ..West Bengal
Choose the correct answer from the options given below:
(A) A-4, B-2, C-1, D-3 (B) A-2, B-3, C-4, D-1
(C) A-3, B4, C-2, D-1 (D) A-1, B-2, C-3, D4

The correct order.of Indian states in terms of population size (2011 Census) is (from highest to lowest
population)

(A) Uttar Pradesh, Bihar, Maharashtra, West Bengal

(B) Uttar Pradesh, West Bengal, Maharashtra, Bihar

(C) Uttar Pradesh, Maharashtra, West Bengal, Bihar

(D) Uttar Pradesh, Maharashtra, Bihar, West Bengal

Match.the National Park with the State in which it is located.
National Park State

A." Balphakram 1. Telangana

B. Mabhavir HarinaVanasthali 2. Assam

(€. Namdapha 3. Meghalaya

D. Nameri 4. Arunachal Pradesh
Choose the correct answer from the options given below:
(A) A-4,B-2, C-1, D-3 (B) A-3, B-1, C-4, D-2
(C) A-3, B4, C-2, D-1 (D) A-1, B2, C-3, D4
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e & 9 @ d Ffeat ST weEd Aedl & 9 92l ' § gafad @ °

A. PO : GUANE, HEYHI, AT B. M : T, B, TUSH
C. I : &, dqa1, a=d D. el : I, W, A
T fau U faeedl § @ @€ IO @ 99 BT
(A) ®aa A, B, C (B) ®aw@ A, B, D
(C) ®aw@ B, C, D (D) ®aw@ A, C, D
Y TS A B TS F GIY @G GIG BT b BH N ARG BT UL GEl BH T & ?
(A) WEEI, THaT, MerEd, Fem (B) TeTerdl, T, WETAEl, ardy
(C) ¥, #eral, MeTad, Hem (D) eTerdl, HaT, FHWm, HEar
qE B e (1942) % wad ¥, P ¥ @ A § oS b P @@ & 7
a. SO HEAT - T AT TERA b. .39 - WA WHE G@R qa
c. fag e - Awigr argnifa d. WRE SR - g 9 aT g HaT
e -
(A) asitb (B) bafitc (C) e¢asitd (D) asiRd
EsTel & Fmior fhameadl & ded ¥ fre &)Y @ frem difve
a. Hr Aieg i, wWER
b. WEMR &1 "ha ii. dmemHeER
C. HWTH! H ATYH STAT iii. WYX fHew
d. TUR S99 & YA HUH YT iv. ST

(A) a-iv, b-i, c-iii, d-ii (B) a-i, b-iv, c-iit, d-ii (C) a=iv, b-i, ¢c-ii, d-iii (D) a-i, b-iv, c-ii, d-iii

T & B B G Al b GeH H AT it

a. WEISE Sl i. e
b. TEIEM fasdh ii. feaelr
c. ¥t oA NG TS iii. TS
d. wteEem o iv. geuasl faafaan &1 s

(A)  a-iv, beiii, c-i, d-ii (B) . a-i, b-iii, c-ii, d-iv (C)  a-ii, b-iii, c-i, d-iv (D) a-ii, b-iii, c-iv, d-i

“— yrifhes sewr w | H P o d3 o weE ud Aees sifard o g frerar #1 gl o6 =t @ Som
FIAGT & T oA | Harpiad ¥, Iamfed gee, s & @y g & a9, ot @, M, gegy, guw
Hcfebr, a8 =, G2, SRy A6 v e, e 91 I F AT A F et @ eiieat urly Wi, 5 {6
T b HES I SATT BT &1 | HTEIHS UET & 4% U G &F H s|ad Bl Uk Wob fohdl gl ¥ qra
T or| drg, S fF W ud uihEe % <Al % & @i €, 3% 9991 WA Bl WIKe s3I B § & e
% HITET B TE ghad wear 8 —

T HIT R 7 DA ¥ FSYT WA B AU & 7

(A) SmEar, st (B)  deE, | (C)  SeERRye, gd (D) UdnTet, shamm

TS g % IR ¥ e ¥ ¥ o ¥ ®ue wd ¥

a. 9% 9@l Uedy ¥ gafia o

b. T gaHA fadd ¥ R T anl

c. (&I, HYX TE HiA Gy 3Eh TR % YHE wEd A

d. =¥ 9 @d dF Aes e - e, Saefifer ot s

(A) a baRc (B) a, baixd (C) b,caxd (D) a,csdind
e wfex Fmio & BTt B (e UM ¥ a9 eia) § ganed Sty ¢

a. @l g0 WgKE & el AWRew @1 gAtmi b, w A faga Wi

c. UgsHA # AU W T d. gefager wlex — R

(A) a,b,cd B) ¢ d b, a (C) ¢, b,d a (D) a,b,d c
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Which of the following river(s) is/are correctly matched with its/their tributaries?
A. Krishna: Tungabhadra, Ghataprabha, Malprabha
B. Ganga: Gomti, Kosi, Gandak
C. Yamuna: Ken, Betwa, Chambal
D. Cauvery: Kabini, Bhima, Hemavati
Choose the correct answer from the options given below:
(A) A, B, Conly (B) A, B, D only (©) B,C, D only (D) A, C, D only

The correct order of the given rivers when arranged by length from longest to shortest is:
(A) Mahanadi, Narmada, Godavari, Krishna  (B) Godavari, Krishna, Mahanadi, Tapi
(C) Narmada, Mahanadi, Godavari, Krishna (D) Godavari, Narmada, Krishna, Mahanadi

In the context of the Quit India Movement (1942), which pair/s mentioned below is/are matched properly?
a. Usha Mehta - Clandestine Radio broadcast
b. K T Bhashyam - Running independent local government
c. Chitu Pandey - Labour unrest
d. Matangini Hazra - Attack on police station

Options:
(A) aandb (B) bandc (C) .candd (D) aandd
Match the following details about Shah Jahan’s construction activities:

a. Moti Masjid i.  Lahore

b. Jahangir’s Mausoleum ii. Taj Mahal

c. Extensive use of calligraphy iii. Peacock Throne

d. first commissioned after becoming emperor iv. . Agra

(A)  a-iv, b-i, c-iii, d-ii (B) @i, b-iivg ooiii, deii (C) @eiVy boi G-ii, d-iiii (D)  a-i, b-iv, c-ii, d-iii

Match the information given below with respective. Sufi. Saints:

a. Bahauddin Zakariya 1. Gulbarga

b.  Muinuddin Chishti ii. Delhi

c. Bande Nawz Gesu Garaz iii. Ajmer

d. Nasiruddin Chirag iv. ‘Founder, Suhrawardiyya Order

(A)  a-iv, beiii, c-i, d-ii (B) a-i, biii, c-ify d=iv (C) a-ii, biii, c-i, d-iv (D)  a-i, b-iii, c-iv, d-i

"--- gives evidence of a planned settlement and mud-brick structure in early Harappan period I. The range
of pottery types was similar to that of Kalibangan. Artefacts included uninscribed seals, pottery with
graffiti, terracotta wheels, cars, rattles, and bull figurines, chert blades, weights, a bone point, and a
muller. A lot of animal bones were found during the excavations, indicating the importance of animal
husbandry. A stacked set of hopscotches was found in an open area behind the structural complex. This
suggests the possibility that a game similar to pithu, which is popular among children in India and
Pakistan, goes back to early Harappan times!" - this statement is a description of which Harappan site
in India?

(A) Banawali, Haryana (B) Dholavira, Gujarat

(C) Alamgirpur; UP (D) Rakhigarhi, Haryana

Which of the following statements about King Harshavardhana are correct?
a. He belonged to the Maukhari dynasty
b. He was defeated by Pulakesin Il
c. Ban, Mayura and Matanga Divakara were the famous writers at his court
d. “Harsha himself wrote three plays - Ratnavali, Priyadarshika and Nagamanjari
(A) .a,bandc (B) a, bandd (C) b,candd (D) a,candd

Arrange the following temple constructions in chronological order (from most ancient to the recent
times):

a.  Rebuilding of Madurai Meenakshi temple by the Nayaks

b. Vitthala Temple at Hampi

c. Group of temples at Pattadakal

d. Brihadishvara Temple, Tanjavur
(A) a b,c d B) ¢ d, b, a (C) ¢, b, d a (D) a, b, d ¢
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A1 &1 e a1l & | Sifsg

-1 T - 10
A. g 1. s
B. dremiiEd 2. 4 H9
C. dacred 3. EA HERd
D. =1 U 9 4. Qe AmT
T U U @ H SHN Bk FE AL Gy
(A) A-3, B-4, C-1, D-2 (B) A-3, B-1, C-2, D4
(©) A-1, B3, C-2, D4 (D) A-2, B-1, C-4, D-3
NRd & 9 oW a1 Sl s refeiaa el o faame il
i. @ - ufyEm S ii. AT — 7L U=t
iii. HET — o iv. STHEl — HETSE
Sudad ® @ B a1 wdl frae ¥ 7
(A) had i T ii (B) o ii & iii (C) had i 3T iv (D) o iii T iv
T < sy e ¥

FA - I : Tog-1 Ao 3 A2fdE i, T T 3199 38 WK B
Fo - I : Tors-1 dien & g3 sedmadd | uies fressat wiex avamn |
U BT & M@rd W, A9 o fyeed ¥ § w9ifys Sftua SO¥ @ g ¢

(A) w9 -11d wue -1 S 9 E) B) HT-1Td I - 1l 3 T T
(C) ®y-19F & Uty HaF - 1l o9 §) (D) &I -1 39 ¢ I B - 1l § 3|
IRd ¥ Seaam & Fream @ ol 98l sred! Hl 9ud S
A. BER — §IER — 3WF — JHEd B. gIaIX - 3N - YHIEA - BISER
C. o - YHEA - IR - BIeE D. R - BEER - WA - THEA
e fou U famedl § @ €9 I B TAA B
(A) had A (B) aw B (C) aw C (D) aw D
a1 @1 e gia-11 & |y sig
T -1 T - 11
A. 39 9 I g Wi
B. g3 fmi . ®UEsl SR
C. =q f¥s 1. FlerE—u—gemeEa
D. g WR V. urte ot
I few U fawedt § & W8 AT B TAT B
(A)  A-LB-II, C-III, D-IV (B)  A-III, B-I, C-IV, D-II
(C)  A-IV, B-lL, C-L, D-III (D) A-II, B-III, C-I, D-IV
a. OfIeel — I § WNTEYR &l S B Fw[u Hal |

b. 39 & W ygdd g&I T dad Y@, 50 wd dar ¥
Sudad HUF | BUAl H FE BT G157

(A) %o a (B) %a@ b (C) aeixb Il (D) adiRkb¥ 4§ B &
a1 &1 e gia-11 & @ g
T -1 T - 10

A. Rearne . Aga

B, @EeRX 1. wrerfasm

C. frar—aifean 11, =ish

D. Argd Iv. fear
I few MU fawedt F ¥ W€ SO B GO BN
(A) A-IL B-I, C-IV, D-III (B) A-IIL, B-I, C-II, D-IV
(C) A-1V, B-I, C-I1, D-TII (D) AL, B-III, C-I, D-IV
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Match List-1 and List - II
List-1 List - IT

A. Arikamedu 1. Patrons
B. Tolkappiyam 2.  Measure of land
C. \Vallals 3. 'Roman Factory'
D. Ma and Veli 4. Tamil grammar
Select the correct answer using the code given below :
(A) A-3, B4, C-1, D2 (B) A-3,B-1, C-2, D4
(C) A-1,B-3, C-2, D4 (D) A-2, B-1, C-4, D-3
Consider the following varieties of Mangoes found in India:
i. Chausa - West Bengal ii. Totapuri - Madhya Pradesh
iii. Kesar - Gujarat iv. Alphonso - Maharashtra

Which of the above is correctly matched?
(A) i and ii only (B) ii and iii only (C) 1iand ivonly (D) * iii and iv only

Given below are two statements:

Statement - 1 : Rajendra-I Chola introduced Maligai-Kol, a standardized measuring unit.
Statement - 11 : Rajendra-I Chola's son Arumolivarman built the famous Brihadeshwara Temple
In the light of the above statements, choose the most appropriate answer from the options given below
(A) Both Statement - I and Statement - II are coerrect

(B) Both Statement - I and Statement - II are-incorrect

(C) Statement - I is correct but Statement - Ll is incorrect

(D) Statement - I is incorrect but Statement - 1I is correct

Choose the correct hierarchy from the highest to the lowest level in Mughal India
A. Faujdar - Subadar - Amin - Mugaddam B.. Subadar — Amin — Mugaddam - Faujdar
C. Amin — Muqgaddam — Subadar. - Faujdar D, Subadar — Faujdar — Amin - Mugaddam
Choose the correct answer from the options given below:

(A) A Only (B).. B.Only (C) C Only (D) D Only
Match List - I with List - Il
List -1 List - I1

A. Tipu Shah 1. . Benaras Rebellion

B. Dudu Mian 1. Faraizi Movement

C. Chait Singh III." Tariqah-i-Muhammadiya

D. Titu Mir IV. Pagal Panthi
Choose the correct answer from the options given below:
(A) A-L B-II, C-lII, D-IV (B) A-II B-I, C-1V, D-ll
(C) A-lV, B-II, C-1, D-1lI (D) A, B-III, C-I, D-IV

a. Manjusha Art is an art form of Angadesh, present day Bhagalpur.
b. The main colours used in this art form are Pink, Green and Yellow only
Which of the above statement/ statements are correct

(A) Onlya (B) Onlyb (C) Bothaandb (D) Neither a nor b
Match List - I with List - II
List - 1 List - IT

A. Kilakot I.  Madhubani

B. " Kohbar 1. Patachitra

C. Thia-badia III. Sanjhi

D. Morakuti IV. Picchvai
Choose the correct answer from the options given below:
(A) A-ll, B-I, C-1V, D-11I (B) A-II, B-I, C-1I, D-IV
(C) A-lV, B-I, C-II, D-1II (D) A-Il, B-III, C-I, D-IV
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HRAT TS HIIE &b o7edel & &9 § Uoh ¥ 3ffyes 9K qar & Il =ar &
A. GGETE SSi B. s&. | F=si0

C. TEMWE AR D. W TH. T

E. @ fafeom dswad

i fiu U faeedl & ¥ @& IO & TU DY ¢

(A) Fad A, Bair D (B) ®aw A, B, C 3T E
(C) wa@ A, B, C,D (D) Suga g

a. WEIUST WG (He HshitEr 715 e 8 o &)

b. WW%@Wﬁ#WW@WWWﬁWW%
U W W B W W g edr § ) ¥ 7

(A) %I a (B) %aw b (C) a 3R b (D) a3 b¥ Y HE T

AT WA WifeRd oI 1 & S/eaX & Ffariag o o & &f ?

A. BREHW FHEIAR B. werEr

C. TEEATET D. ofahl Hea!

E. &R

T few 1o faeedl & @ @8 IR @ TUA ST ¢

(A) %ad A, B, D (B) ®aw@ D, C, E (C) wHaa A, C E (D) %a@ B, C, D

196 sTaTedl ® WA ¥ BUTH B T b fIvg ¥ BE G YT 9 e 7

A. 1861 % smite fafad ar & 9a o U IART 9T GHE USTI

B. T&bT % AT 3@ § HUE IAET § SO |

C. 1862 @& e § 90% HuTq &I Al A & gal

D. U™ SdEd ¥ famm 3§ |t @ ouen 3Fal # efus gae S

E. 1875 &l T&p 3 991 (&di % faog @Rl &l afafear &l

e fou U famedl § @ €€ AT B AT B

(A) FHad A, B, C (B) ®a@ A, C3ikD (C) %ad A, B,D (D) &a@ D, E

-1 R @ ghr 1 el ¥ e Hifi -

T - 1 T - 11
A. GrEr HaX @ R I geead -
B. Uz R . fufex 9=
C. zameErE e e . ==« - 10
D. e B we freea IV. w95
T feu U faeedl # @ €& IO BT AGT BT -
(A) A-IIL B-L C-IV, D-I (B) A-1V, B-I, C-III, D-II
(©) A, B-1V, €-1. D-IIT (D) A-I, B-III, C-II, D-1V
T - I 9/ BULH 3H15 & 91 g4 - 1 afra & P i
T -1 T - 10
A. & YOI [  oremees Raeh
B. SET-u-Twd ) PR 41 i S e
C. famn 1. qmestt
D. ™ IV. Tt widr
H8 fu U fbedl § & @ SR @1 GG BT
(A) A-II, B-1V, C-II, D-1 (B) A-II, B-III, C-1V, D-1
(©) A-I, B-III, C-I, D-1V (D) A-IL, B-III, C-II, D-1V
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Leaders who served more than once as the President of Indian National Congress

A.
C.
E. Sir William Wedderburn

Surendranath Banerjee
Dadabhai Naoroji

B. W.C Banerjee
D. Rahimtullah M. Sayani

Choose the correct answer from the options given below:

(B) A, B, C and E only
(D) All of the above

Mabharaja Ranjit Singh came from Karorasinghia Mai Misl.

Jean-Francois Allard and Jean Baptiste Ventura were the two Nepoleonic generals in service of

Only b (C) Both aand b (D) Neither a nor b

Which among the following were women Adayar saints of South Indian Bhakti Movement?

Godadevi
Akka Mahadevi

(A) A, Band D only
(C©) A,B,C,Donly

a.

b.

Maharaja Ranjit Singh.

Which of the above statement/ statements are correct ?
(A) Only a (B)

A. Karaikal Ammaiyar B.

C. Isaignaaniyar D.

E. Mangayarkkarasiyar

Choose the correct answer from the options given below:
D, C, E only (€) A, C Eonly (D)

(A)

A, B, D only (B)

B, C, D only

Which statement(s) is/are correct about the Cotton Plantation in India in the 19th century?
A. American Civil War of 1861 impacted Cotton production in India
B. Cotton production boomed in Deccan countryside
C. By 1862, 90% of cotton import to Britain came from India
D. Expansion in cotton production made ryots richer than the sahukars
E. The Deccan Riot of 1875 was the reaction of sahukars against the rich ryots

Choose the correct answer from the options given below:

A, B, C Only (B) A,C&DOnly (C) A,B,DOnly (D)

(A)

Match List I: Inscription with List 1l: Kings

oSOow>

List-1

List - IT

Sanchi Copper Plate Inscription I.  Pulkeshin - II

Aihole Inseription

Allahabad Pillar Inscription

Barah Copper Plate Inscription

II. Mihir Bhoja
II. Chandragupta - 11
IV. Samudragupta

Choose the correct answer from the options given below:

(A)
©)

A-III, B-L:C-IV, D-II
A-lI1, B-1V, C-1, D-1II

(B) A-1V, B-I, C-III, D-II
(D) A-L, B-II, C-II, D-IV

Match List - I: Land / Taxation Units with List - II: Personalities

A.
B.
C.
D.

List - I

Dahsala System
Bigha-i-Daftari
Biswa

Guz/Gaz

L.
II.
II.
IV.

List - 11
Alauddin Khilji
Raja Todar Mal
Shahjahan
Sikandar Lodi

Choose the correct answer from the options given below:

(A)
©)

A-III, B-1V, C-II, D-I
A-11, B-1II, C-I, D-IV

(B) A-II, B-III, C-IV, D-I
(D) A-L, B-III, C-1I, D-IV

Page - 13
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A1 @1 frem a1l & | By

A.
B.
C.

-1
A - g9Er
KIE]

Br$

D. @ra faseean
g fou U faeedi § € 98 SO @1 99 SNy
A-IL, B-I, C-1V, D-III
A-1V, B-1II, C-I, D-II

(A)
©

ARl

A.
B.
C.

-1
ST
HYTE
CIEC]

D. #ic

(A)
©)

1.

3.

- 11

| A E e

. e
1. snfsem

IV. o=

T - 11
L oA
I g
1. wee

(B)

IV. ¥l od em e
T feu U faeedl § @ € IO BT A9 BT

A-III, B-1V, C-1I, D-1I
A-1V, B-III, C-1I, D-1I

ARG fae o Frefafad geameli X faar s :
o fufex oot (99 1) & erata wiaerd @1 Sed
2. WESaH® & STid Uedd @l i T
T EIRT TS qTed TsTa st

4. vids - | 0 a9 91 sl e
SUgad TS B GaHID G0 H AT HY TEl BIsh(Hh hA HT & 7

AL, B-II, C-1, D-IV
(D) A-l, B-IV, C-II, D-III

- I: fopeAl &1 sl & W & | g - I g & e s

(B)" A-1V, B-llI, C-lI, D-1
(Dy A-IL B-1V, C-H, D-1

2-3-1-4

1,3,2,4

QITeRAQTET STHIER

(A) 2-1-4-3 (B) 3-1-4-2 (©)

TR Wesidl 50 & <y ®, Fefatad geen ¥ e it
1. fsdm T 99 99ad 2. <=l HE

3. M T 4, A e B gg

TE HIAhE A ([T & I qh) & -

(A 4,3,1,2 B) 3,4,2,1 ©)
IAAfeh @ 0, ‘gt ' g @l A

(A) sfweE (B) &Y (©)

YN 9 o “erseqre’’ fengent fHfese wear o ?

(A) U fgarE HHETS (B)

©

A BT WH

(D) oTTe St @ S g3 STYATUE! W Bl IS

e & s A frrfafad weml o foam Sifg

l.

4V el

6

T

(A)

A BE © |

e pseudomycelium <91 Gebal & |
A e (FfsST) a0 S & § TS Heal & |
dre famed! s (Feheelea amis) & |
gy I fgedl (samihs) € |

g e WeHs (Fueitee) &

1,2,3,4

e 7
(B)

1,2,3,6

©
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Match List - I with List - II

List -1 List - IT

A. Mata ni pachedi I.  Uttar Pradesh

B. Sanjhi 1. Gujarat

C. Phad III. Odisha

D. Saura Paintings IV. Rajasthan
Choose the correct answer from the options given below :
(A) A, B-I, C-1V, D-1II (B) A-IIL B-II, C-I, D-IV
(C) A-lV, B-lII, C-I, D-lI (D) A-L, B-1V, C-lII, D-1II

Match List - I: Name of the Variety Units with List - II: Textile

List-1 List - IT

A. Shabnam I.  Wool

B. Mashru II.  Cotton

C. Dhabla [II. Muslin

D. Chintz IV. Cotton and Silk mix
Choose the correct answer from the options given below: :
(A) AL B-1V, C-1, D-lI (B). A-1V, B-1II, C-Il, D-1
(©) A-1v, B-IL C-I, D-lI (D) A-lI, B-1V, C-II, D-1

Consider the following events in the history of India :
1. Rise of Pratiharas under King Mihir Bhoja (Bhoja 1)
2. Establishment of Pallava power under Mahendravarman
3. Pala dynasty founded by Gopal
4. Establishment of Chola power by Prantaka - I
What is the correct chronological order of the above events, starting from the earliest times?

(A) 2-1-4-3 (B)  3-1-4-2 (©) 2-3-14 (D) 3-4-1-2
With reference to the Indian Freedom Struggle, consider the following events :-
1. Second Round Table Conference 2. Dandi March
3. RowlattAct 4. Death of Jatin Das
The correct.chronological sequence is (from earliest to recent)
A 4,3, 1,2 B) 3,4,2,1 © 1,3,2,4 D) 1,2,3,4
In the later vedic period, the term "Bali" denoted
(A) Sacrifice (B) Tax
(C) Powerful landlords (D) Revenue

"AshtaPada'.in ancient India referred to
(A) A marriage ritual (B) An Asura with eight legs
(C) Game of chess (D) Cavalry unit comprising of eight horses

Consider the following statements about Yeast :

1. Yeast are fungi. 2. Yeast can form pseudomycelium.
3. Yeast reproduce asexually by budding. 4. Yeasts are facultative anaerobes.
5. All Yeasts are dimorphic. 6. All Yeasts are pathogenic.

Which of the above are correct ?

A 1,2,3,4 B) 1,2,3,6 C©) 3,456 D) 2,3,4,5
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BIITGARTT Uep Yishar & Tk k@ UGl &l Sh o &1 RAAAES B o Heg didl & | g8l &1 ™ I
T wirpe sifvfpard e fafiicse orwie %9 o B @ | 39 geT @ 9ud difvi 5t f weifiafee o @
T E |

(A) ARG BT BTN Fell BT ST (B) e SRS & NSHM § BEEEIE

(C) AT & SEIRIN & HIET SEATFIES (D) =« favrem

% SIS (BUA) H deg & o 99 Tasa frg] @ sifued § oee-9qal g5 ¢ | 39 fqae & gasm & Wy @
BT TTET AT & | J&W &1 (& 9 A & T 31Rd &l o @98 B ¢ | 5% Sifae Ry &1 o @98 &1 ghdl
¥

i. WA AT B ii. AarBar Oar AB

iii. Adar Bar AB iv. %ad AB

el fawer gig - b
(A)  had i (B) ohad ii (C) waw iii (D) %ad iv
= e X faam st

i. efefhhy™ we whkear & Rad Ageed &1 Ui g ¥ e § |

ii. SFmefefpersm uw ufkar & frad Tggem &1 Suiaor AEeE ¥ B T |

iii. =g o (DNA 3t RNA) & 5o @ |

iv. argHsaE fasiel/atsa & SR ag & R Bl TS5 Bl EUIdLU TE2SA & sfedgs o el 5|
v. W& R (root legumes) ¥ AgZIsH Afrebiantor SA] HE B & |

TEl BT BT TG BT -

(A) i i, iRy (B) i iii 8T v (©) i, ivalt v (D) i, ii 87T iv
g % I Frafafad st o foam it

i. wEeg g ¥ ii. wEeE U €

iii. @EAY ha® & iv ﬁﬁﬁﬂ'ﬂ%ﬁﬁﬁ'ﬁﬁl?ﬂ'%

v. wEad gargerer ¥

& B BN TIT DHINT ¢

(A) idRv (B) i @ iv (€) i, iii 8iR v (D) i, iveR v
A sraen uftadq & $B Wy @8 MU ¥

A. T B ArHIH B. AMEw &1 @

C. v # dFr &1 ga D. 9@ % JEd T B SRS ST TGS Bl ST
&l faeea &1 g ¢

(A) B, C au D ¥ shad THEeb qiacdT aiafad € |
(B) A, Baw C ¥ %aw Hifge uftgds aftafaa &
(C) Faw A ug YHifae afada T |

(D) B ¥ wifte ofix Temafe, S afads e ¥ |

Frrefafad & @ &9 & ®u7 98 T T 7

Rt @l T 9 e offe IR T g o

difsam HEez, IfhT TPsT B UH T 9E § |

T qIgst Uk SATRABIe Hl Hifq W R BT Tl & |

=] T ® Uh g 3B § o &b @ o] SuRyd g ¥ |

oifeas FEs & o faaem ¥ foga yafeq #0 w ifsad sEsiegs o= & §
, B3R D (B) A,C3RE (C) BaRD (D) %ad E

A

a%wéﬁﬁmaawﬁﬁaéﬁasmaﬁrq

IgT & st w1 FTAr U d@ & e b wh § ot © |

HUST DI GEE & A 91T & G H§ e & FE saedid wean g |
i@ fmior & R |1ge % oTupet w1 SateRr AR eeR @y ST g ¥

HOR o ¥ AT 9 & B9 % 98 Ca’l A Mg®T ot @ AR E
A, B air C (B) Aa3RD (C) BarC (D) B,CsaD

Zmoows

S owrd

>

Page - 16



47

48

49

50

51

52

53

ENGLISH VERSION |

Photosynthesis is a process that helps green plants synthesize their food. A cascade of events and
chemical reactions take place in a specified sequential order. Choose an event that does not take place
in photosynthesis

(A) Absorption of light energy by chlorophyll (B) Reduction of carbon dioxide to carbohydrate
(C) Oxidation of carbon to carbon dioxide (D) Splitting of water

A couple suspects a mix up of their new born baby in the hospital. Blood typing is sought to resolve the
dispute. The man has blood group A and the woman has blood group B. Their biological child can have
blood group

i. Either A or B ii. AorBorOorAB
iii. A or B or AB iv. only AB
Choose the correct option :
(A) ionly (B) iionly (C) iii only (D) v only

Consider the following statements:-
i.  Nitrification is a process in which nitrates are converted to nitrogen.
ii. Denitrification is a process in which nitrogen is converted into nitrates.
iii. Nucleic acids (DNA and RNA) contain nitrogen.
iv. During atmospheric lightening, nitrogen in the air gets converted into oxides of nitrogen.
v. Nitrogen fixing bacteria are present in root legumes.
Choose the correct statement(s) :

(A) i, ii, iii and v (B) i, iii and v (C) 1ii, iv.and v (D) i, iiand iv
Consider the following statements about Lichens :

i.  Lichens are algae ii. Lichens-are autotrophs

iii. Lichens are fungi iv.. “Lichens are symbiotic lifeforms

v. Lichens are saprotrophs
Choose the correct statements :
(A) iandv (B) ii and .iv (C). i, iii and v (D) i, ivand v

Following are some processes involving changes of state :
A. Evaporation of water
B. Burning of candle
C. Dissolution of sugar in water
D. Electrolysis of water to form hydrogen and oxygen
Select the correct option -
(A) B, C and D involve chemical change only (B) A, B and C involve physical change only
(C) Only-A is a physical change (D) B involves both physical and chemical change

Which of the following statements are not correct ?

Plaster of Paris is obtained on heating gypsum.

Sodium carbonate is an important constituent of baking powder.

Bleaching powder can also act as an oxidising agent.

Ten water..molecules are present in one formulae unit of chemical species of a sample with
common name blue vitriol.

Sodium. hydroxide is produced by passing electricity through the aqueous solution of sodium
chloride.

(A) “A;Band D B) A, Cand E (¢©) Band D (D) Only E

Select the correct statements regarding cleansing action of soap.
A. Hydrophilic end of soap molecules interact with the oily droplets.
B. The formation of micelles in a soap solution during the cleaning of clothes is called
emulsification.
C. The hydrophobic end of the soap molecules is in the inner side during micelle formation.

m OOow>

D. Micelles surround the Ca?* or Mg2+ ions in hard water instead of oily droplets.
(A) A, Band C (B) Aand D (C©) BandC (D) B,Cand D
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fdgamarad § ?

1. ariieter U& da8 @l aiEel (W) &, Sa%! aad ¢ 6 9as o &9 a9 el § 98| S § |
2. IS U I (A6) AR 5, W aidd ¢ 6 %@ b i F BUT a9 SRl § 9@ S § |
3. THéuwr, AET oreren o1 g9 oTgeT ¥ Seond & for @ 3 e ¥ ufidds |

4. et W ERAT Bl UGB AOHH B HEdT g7 8 had Sgal ol Fehdl & |
A

(A) 1,3 e 4 (B) 1,233 (C©) 1,23 4 (D) 2,33 4
T -1 e gl - 1 % Wy i
-1 T - 11

1. 3 Hifsad RS ¥ et . shETa

2. qw % ygisal & o o fafee T II. smgas (Distillation)

3. UHRHE wd wd e II. emsbgor (Centrifugation)

4. B Y wEEd IV. S&gurast (Sublimation)
(A) 1AL, 2-1, 3-1V, 4-111 (B) 1-11, 2-11, 3-1V, 4-1
(C)  1-1V, 2-1, 3-11, 4-I1I (D) 1-1V, 2-I11, 3-1, 4-1I

dfaa & srgede 143(1) & d&d 9Rd & gdted <A@y &1 yad e womstt sifma & enfre fafes fawaf o
famm @ifsT -
Al - 1 &1 e @l - 1 % |1 Sty

T -1 - 11

A. feen fafyr erfafam, 1951 [ faumd) fagoftesr

B. &y fis 1965 . s 8|

C. 2001 @1 faow de d@en 1 11I. vyt faas

D. 2002 @1 fagiy e @ 1 IV, ee faumEer g
I fow o fawedt § & @8 A ghhg ¢
(A) A-IL B-I, C-1V, D-II (B)  A-IL B-I, C-II, D-IV
(C) A-lL B-III, C-1V, D-II (D) A-IL, B-I, C-III, D-IV

HIRd & Hfaa™ % e 54 Td 55 % W s @iagm (70ai dees) sifufEd, 1992 g vRd & Tegata
% g7 &g 1 9 & -9 Hseniad waet @i fratas wvsa ¥ st fear wm @ ?

A. fawi &1 NCT B. man

C. gzl D. @erad

e fow T fawedt § @ @8 A% g ¢

(A) %had A R B (B) ®ad B siix C (C) had A8t C (D) waw C stk D

s o gt & foe e § 9 - s wd 37 ?

A, zOH feEw ¥ 10 § cifde gew 79 Bl 9°1 Tog 91 9 7 ¥ Sifie 9ee el g

B. &<IeM % AR fquel &1 Uk 95 36% 99T & &4 F HE Bl § |

C. T& oy W, @Ed ud srd—w@amea el & g 9 =g g9l O wer-faaser & Wi eiar |
D. wfufy (&) @ P fedr o @99 we af @ aiftre @ B |

Y fow o forepedt & & g2 I gHM -

(A) dad A, B@RC (B) &ad A, CRD (C) %ad A, BsiR D (D) &awa B, C &k D

Tatea A % g8 gie Ay & g & ax # e et ) e i) oA @ emend a@

B ?

A. =ITII@g % B3 G (session) B AN AT AN W@ & fAQ Afs gaied Amamad & ATt & S oA
B, a9 US & Arardier @ iR @ o "eadr ¥ |

B. galea =A@ & TS wie <mandier B iR § v Wd % g =i w getud ea = & g
=rarehieT % |y feame—famsl e Sl g

C. us el ATy & FgRa & fag Tgufa & g safa siftaw 81 2 |

D. Haled @™ & 9% Hid 999 Gaied U & US e T &l gared g & et &
gt st ol fastwifreeR uter &l ¥

(A) %ad A, B3R C (B) d%ad A 3t B (C) aw C 3k D (D) ®aw@ A, Bair D
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Which of the following is correct?
1. Evaporation is a surface phenomenon, which means particles from the surface change into the
vapour state.
2. Boiling is a bulk phenomenon, which means particles from the bulk (whole) of the liquid change
into vapour state.
3. Deposition is the change of gaseous state directly to solid without converting into the liquid state.
4. The state of matter can be changed by changing its temperature only.

(A) 1,3 and 4 (B) 1,2 and3 (C) 1,2 and4 (D) 2,3 and 4
Match List-I with List-II :
List - I List - 1I

1. Camphor from solid sodium chloride I.  Chromatography

2. Different pigments from an extract of flower petals II.  Distillation

3. Acetone and water mixture Il Centrifugation

4. Butter from cream IV. Sublimation
(A) 1-I0, 2-1, 3-1V, 4-111 (B) 1-1I, 2-IM1, 3-1V, 4-1
(C) 1-1V, 2-1, 3-I1, 4-111 (D) 1-1V, 2-H1, 3-1.4-11

Consider the legal issues involved in followings advisory opinion rendered by the Supreme Court of India
under Article 143(1) of the Constitution.
Match List - I with List-1I :

List-1 List - 11

A. Delhi Laws Act, 1951 1. Legislative Privileges

B. Keshav Singh 1965 I Gujarat Gas

C. Special Reference No. 1 of 2001 III. Delegated Legislation

D. Special Reference No. 1 of 2002 LV. “Gujarat Assembly Election
Choose the correct answer from the options given-below :
(A) Al B-I, C-1V, D-ll (B) . A-II, B-I, C-1I, D-IV
(C) AL, B-III, C-1V, D-II (D) A-ll, B-I, C-1II, D-IV

Which of the following Union Territories are included in electoral college for election to office of
President of India by the Constitution (70t Amendment) Act, 1992 for purposes of Articles 54 and 55
of the Constitution of India ?

A. NCT of Delhi B. Goa

C. Puducherry D: Lakshadweep
Choose the correct answer from the options given below :
(A) A and B.only (B) Brand C only (C) A and C only (D) C and D only

Which of the following statements is/are correct for the Public Accounts Committee ?
A. Tt comprises of not more than 10 members from the Lok Sabha and not more than 7 members
from the Rajya Sabha.
B. As per convention a member of the opposition acts as its Chairman.
C. It examines the.statement of accounts showing the income & expenditure of the state
corporations; autonomous and semi-autonomous bodies.
D. The term of the Committee does not exceed one year at a time.
Choose the cotrect answer from the options given below :
(A) A,BandConly (B) A,CandDonly (C) A,BandDonly (D) B,CandD only

Consider the following statement regarding the appointment of ad hoc Judge of the Supreme Court.
Which ‘of the following is/are correct?
A.  Ad hoc Judge is to be appointed if the quorum of the Supreme Court judges is insufficient to hold
or continue any session of the Court.
B. Chief Justice of India is required to consult the Chief Justice of the concerned High Court before
appointing a Judge of the said High Court as Ad hoc Judge of the Supreme Court.
C. For appointment of ad hoc Judge, prior consent of the President is not mandatory.
D. Ad hoc Judge of the Supreme Court while attending the sittings of the Supreme Court enjoys all
powers and privileges of a Supreme Court Judge.
(A) A,Band Conly (B) A and B only (C) C and D only (D) A, B and D only
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Y & wuw faw T R

F-1: 22 @8, 2019 &t FSifaspa deadge arg dfsswa qb 1 g1 Sefeer & d5am-2 g ar T
WEhHe | e, w= Ud qax gaiase 9|

Fo - 11 : ST T5AT &1 GihAT gard e § 100 km (62 A1Sd) @I Sd1s 9 BT |

ST Bl b G_H § A9 U T fgeedl § @ waitys Iuge SOX g

(A)  ®uF -1 qan Hu - 11 a7 w2 & (B) @¥F -1 qam % - 1 31 Tod §
(C) ®u-1wd & fog wuF - 1 Toa & (D) wue-17ed & fobeg wu - 1 687 ®
= o 8 o e ufel (Redfea) a8 87

(A) e (B) drRmem deeEawEEe

(C) wifeaw dwie (D) i are e

T ey fiu U R ws

F s (A) X g F BT (R) % A 9T oifed fpar mr &
Afad (A) @ ST A feE

% S5 oI W BT & foee Iwdn fafter et W g % ' o feen
ST TRl & | FF fh g gt A orafire e e widl, 38 Sl & oTesl Ud gUHd wid "
Gl

FR (R) : IENE H FHre sgeniadgs W Al ¥ | HIaA S[ESadES B SHdl qEl e § Uiplaw A9 @
AT ¥ S e Es e §)

SURIed Hol b wad H, 9 fiw Ty fyeedl ¥ 9 waitus. suged SO¥ ghw:

(A) (A) @ (R) I =81 ¥ &ix

(B) (A) @ (R) I @& ¥ &ix

(©) (A) @ g feg (R) @21 &

(D) (A) && & & fog (R) &&1

qRd & Ugay! e & oY § Yedl = § § sM-or aomn eifde & o 7
1. IR IS 2. gaRg W@
FUH @A 4. I «@H=
:ﬁ%%qwqaﬁg?mmaﬂ%ﬁaﬁwgﬁq
(A) aw 1,233 (B) ®%ad | aix 4 (C) aw 2 3R 4 (D) waw 1,2 @R 4

Yk B I FANT N A At foegd g & g ¥ fre A ¥ a9 wd wd ¥ 7

i. TEHiaa ee ofiR Aafae ¥ de 9T %1 SUENT BT ¥ |

ii. fporex ok anfyir 7= & ac €T &1 I9UNT BT ®

iil. TEX F@X o TUT HEY § ac R B ITAN B ¢ |

iv. orftreay @resi § 220 URgER &1 %1 SUENT BT |

v. fafe= @gel § o €6 9o 9l 9T @ 9 @9 el §

(A) Fad i, ii e iv  (B) ad ii o iii (C) haw iii X iv (D) &ad i, iii, iv 3T v

= et T faam #ifsg ¢
FF-1: JIbF 4 [T BF g% & SAU g 9 Ube ol & a7 B gas &b v gd U faae & s
T

F - 11 : grog &% &l faen g8 @ ol & fres srfey feagdl &1 39X ga 5@ &% % it T e ¢
Fo - 11 : 9 T4 % Hiax i3 W daag &= T8 g |

Fo - IV : J991 &5 & AU Jaadl & (@l & fehedr # it SR quEr S § |

STUE oA § § D9 Tl § 7

(A)  wuA- 1L T &R IV (B) wue -1, 11, & 111
(C) “wma-1, 1 3R IV (D) o= -1, 1 &R IV
o @At ot femr #ifeg

mw-lzﬁgaﬁaagawﬁaﬁaﬁiﬁwﬁ [ gfafad & & |
mm-ll:hgamﬁaiﬁmwﬁ Iegd ot 7 ufEfad s § |

Fe - I : foera #ieX Td seeX 31w & fasid o & & & |

ST B B BT GE ¥ ?

(A) wmum-leiRIl (B) ®F-laxIl (C) Haa-1a Il (D) @wus -1, 11 3 111
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Given below are two statements:

Statement - 1 : Chandrayaan-2 was launched on July 22, 2019, from Sriharikota by a
Geosynchronous Satellite Launch Vehicle Mark III. The spacecraft consisted of an
orbiter, a lander, and a rover.

Statement - 11 : The orbiter will circle the Moon in a polar orbit at a height of 100 km (62 miles).

In the light of the above statements, choose the most appropriate answer from the options given below

(A) Both Statement - I and Statement - II are correct

(B) Both Statement - I and Statement - II are incorrect

(C) Statement - I is correct but Statement - II is incorrect

(D) Statement - I is incorrect but Statement - II is correct

Which of the following is not a preservative?
(A) Dulcin (B) Potassium metabisulphite
(C) Sodium benzoate (D) Sorbic acid salts

Given below are two statements: one is labeled as Assertion (A) and the other is labeled as Reason (R)

Assertion (A) : Biogas contains large amounts of methane which can be used as a fuel for several
purposes. As it releases no smoke or residue; it should be considered as a good and
safe source of energy.

Reason (R) : Biogas also contains carbon dioxide and the higher content of carbon dioxide
contributes to lower energy of biogas in comparison to natural gas.

In the light of the above statements, choose the mest appropriate answer from the options given below:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is:not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

Before the inception of the five-year plan.in India, which of these plans were in existence?
1. Bharat Plan 2. Sarvodaya Plan
3. Farmer Plan 4. Bombay Plan
Select the correct answer using the code given below :
(A) 1,2 and 3 only (B) .1 and 4 only (C) 2 and 4 only (D) 1,2 and 4 only

Which of the following is (are) true in respect of the electric current used at your home?
i.  Microwave Oven and television uses dc current
ii. Refrigerator and washing machine uses ac current
iii. Air cooler and air conditioner uses ac current
iv. Most of the devices use 220 ampere current

v. Magnitude of current passing through different devices is same

(A) Only.i,iiand iv (B) Only ii and iii ~ (C) Only iii and iv (D) Only ii, iii, iv and v

Consider the following statements :

Statement - 1 : The magnetic field lines emerge from the north pole and merge at the south pole
of a.bar magnet.

Statement - 11 ;. The direction of magnetic field is taken to be the direction in which the north pole
of 'a compass needle moves.

Statement - IIL:+ : ~There is no field inside a bar magnet.

Statement - IV.. : The relative strength of the magnetic field is shown by the degree of closeness of
the field lines.
Which.of the above statement(s) is/are correct?

(A) “Statements - I, II, III and 1V (B) Statements - I, 11, and III

(C) «:Statements - I, Il and IV (D) Statements - II, III and IV

Consider the following statements :

Statement - 1 ¢ An electric motor converts electrical energy into mechanical energy.
Statement - 11 ¢ An electric generator converts mechanical energy into electrical energy.
Statement - I[II  : Both electric motor and generator work on the same principle.

Which of the above statement(s) is/are correct?

(A) Statements - II and III (B) Statements - I and III

(C) Statements - I and II (D) Statements - I, II and 111
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= SOl WX faEm Hig
FE-1: 9 TH ARMENES e AEH § g AT B ST AT Bl &, 300! dqad, Bradeh 9 wis gaadr
T

FA-11 : UH A9 9 EL GEH @ S A HA AT SeTESs 99 i Bhaesl @H eufEtad e s |

Foa - 111 : U A1eg9 @ qEL A9 & ST A0 i 999 SegEres a9 &l fhadel 9 @S seemr & |

FA-IV : ‘Thmisamm’ fafeaa e (medical diagnostics) & wamm § &M all Ush danii & oy
EZTEES &1 SUAN fopar smar & |

SURSd BUA b T X T B9 GAS e § 7

(A) ®HH-1eR I B) H\-1aRIl (C) wHA-MRIV (D) @A -MI &R IV

FM-1: e sEuEdite & dfsa §

Fa-11 : 3N Q@ HT ST dasbal (curvature) IT 3E ST &b Q60 (elongation) &Y & ¥ I8 AW Uar
TOT & 9ohal ¢ |

Fo - I : Sfad araX & sraad (concave) &9 &1 YANT H¥b QY & AT S Fobal 2 |

F -1V : Sfad UrEaX & 3@ (convex) TH BT FANT Bk &Y I U S _Fhal & |

U B B T F F BT Ao e 7

(A) &HHF-1sRIl (B) @®A-MRIV (C) &-13dRIV -~ (D) wu-1I i 11

o Sugel # ¥ fped wfqum dongs g sl & on® & #9 7, % SEHT (ratification) @I STATRAT BT

&7

A. 9@ oggEr § BE A g@ B. &g®ae 54, oigde 55 o argwe 73

C. A= VII D. 9@ IX &1 =X |
TE BIS B TIT BT
(A) AB (B) Baaix C (€) CarD (D) DaRA

e o ¥ BF-a1 ogee |@fUM & A BN ¥ 9 (Sars! a1 & TS $B 4Hdl 9  Hedl § o et §
Tl Bl EET B Y Uebdl & 7

(A) eTgT 358 (B) =T 363 (C) org=T 366 (D) oTT=R 368

gt T Ifaerd &l g 1l § ¥ 520 S & 915 Gfaa & e o 9 dwex § snfye fepan mam ?

(A) W XLIA=X . (B) W XILI=X IV (C) W XIV,a=x1 (D) uwe XI, 9=x I

aled =TT, % 38 3T Bile! seme (2007) & T § ¢
(A) w@ErE EeE ¥ (B) dfqum @1 emamd sid &
(C) oI gfua &5 ¥ (D) Sulad ¥ ¥ B 7l

Had 'A' ¥ gaEs 9 SFE b e wiam 'B' ¥ fw T 39% yerd (haeE) b @y Hifig qur w8l fasmed
i

Fem - A ™ - B

i. el arer A. STESIE

ii. WY TSrErHE (CPpad B. @EE@m @& o

i, TEEEM C. W faafea

iv.  @EEEH D. fafrs Rrafea
BIS
(A) i-A, ii-B, iii-C, iv-D (B) i-B, ii-D, iii-A, iv-C
(©) i-B, ii-D, iii-C, iv-A (D) i-D, ii-C, iii-A, iv-B

frfafaa T & @ A 9 fead Rmfes T awfas € 7
(A) fama 8@ eMifEn, AIDS, 364 M (B) AIDS, #ieEfed B, &y
(C) @miipere, TeEfed B, &eX sEsqd (D) T @ emithen, EMifhfaen, se9 M
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Consider the following statements :

Statement - 1 :  When an ultrasound travels from one medium to the other medium, its wavelength,
frequency and speed change.

Statement - 11 : The frequency of an ultrasound wave remains almost unchanged while travelling
from one medium to the other medium.

Statement - I[I  : The frequency and speed of an ultrasound wave change when travelling from one
medium to the other medium.

Statement - IV : ‘Echocardiography’- a technique used in medical diagnostics, employs ultrasound.

Which of the following combination of above statements are true?

(A) Statements - I and Il (B) Statements - I and Il

(C) Statements - II and IV (D) Statements - III and IV

A person is not able to see distant objects clearly.

Statement - 1 : The person is suffering from Hypermetropia.

Statement - 1T : The defect may have been caused due to-excessive ecurvature of the eye lens or
elongation of the eye ball.

Statement - ITI  : The defect can be corrected by using a concave.lens of suitable power.

Statement - IV~ : The defect can be corrected by using a convex lens of suitable power.

Which of the following combinations of above statements is correct?

(A) Statements - [ and III (B) - Statements - Il .and IV

(C) Statements - I and IV (D). Statement - Il and III

Which of the following provisions require(s) ratification from:-not.less than one-half of the states for an
amendment to the Constitution?
A. Any of the lists in the Seventh Schedule ~ B. Article 54, Article 55 and Article 73

C. Chapter VII D.. Chapter I of part IX
Choose the right code :
(A) AandB (B) BandC (C) Cand D (D) Dand A

Which of the following Article bars the courts from interfering in disputes arising out of certain treaties
and agreements made by the Princely States before the commencement of the Constitution?
(A) Article 358 (B) Article 363 (C) Article 366 (D) Article 368

In which Part and Chapter of the Constitution was the Right to Property inserted after being removed
from Part 11?7

(A) Part XI, Chapter 111 (B) Part XII, Chapter IV
(C) Part XIV, Chapter 1 (D) Part XI, Chapter |
I R Coelho:judgment (2007):0f the Supreme Court deals with :
(A) Autonomous institutions (B) Basic Structure of the Constitution
(C) Scheduled Areas (D) None of the above
Match the cell organelle listed in Column - 'A’ with their function in Column - 'B' and select the correct
option.
Column - A Column - B

i.  Golgi body A. Digestion

ii. Smooth endoplasmic reticulum B. Formation of lysosome

iii. Ribosome C. Protein Synthesis

iv. ‘Lysosome D. Lipid Synthesis
Code _:
(A) i-A, ii-B, iii-C, iv-D (B) i-B, ii-D, iii-A, iv-C
(C)  i-B, ii-D, iii-C, iv-A (D) i-D, ii-C, iii-A, iv-B

Which of the following group of diseases comprises genetic diseases?
(A) Sickle cell anemia, AIDS, Down syndrome

(B) AIDS, Hepatitis B, Cancer

(C) Hemophilia, Hepatitis B, Colour blindness

(D) Sickle cell anemia, Hemophilia, Down syndrome
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faarfm st fop sl g fagem e O % w0 & & wear 8, a8 § -
(A) TR (B) wifes Ui (C) ™= (D) fesw / Ve

AR A X & foemm e & pa yiaadn @
(A) 189 19vfged  (B) 20@25wfasa (C) 15@ 16 wfasd (D) Sudad & & &g 7ol

FrgaE & I BEst ¥ 9g a9 e, S BwSt & WiaX & 9|

(A) TgHSE™ TEF b TG B (B) agHed™ q€d ¥ HH &

(C) dagASa™ 919 ¥ Sifass & (D) ST H HHET &

e & & Wveey 6t & s & A9 fw T B ¥ ¥ w8 faee ghw

i. A9 ii.  ATEgeE
Eﬁ's"

(A)'mi,iiiaﬁwiv (B) %aw i R ii (C) e i o iii (D) ¥aa i, ii o iii
o1 grenrt fafre faumeti/erias o fou sma ¥ 1 a9 2022 % 937 YEERIX UTasdtell % A 6 R 3 wrias

& I BT
o FEaT
a) 9l on 1) =R Td San
b) Y WHHT (FTONIA) 2) we%Hs
¢) TN TEIEH 3)  fagme we At
d) <= wmshan 4) @i wd farem
e) T TEH (HRUNIRid) 5)
= o @ | faeew gig -
(A) a5, b4, o1, d-2, e-3 (B). a5, b-1, c-2, d-3, e-4
(C) a-l, b-2, ¢-3, d-4, e-5 (D) a2, b-3, c4, d-5, e-1
Tl | @t e gdlr 1 & a9 Sy -
-1 - 10
a) 1. 4l B9 &g 1) HEMAT T e
b) @ AR 2) 8iies gy
c) HRMEN B 3) f&=<r wfecst Ud whifaery
d) wqfaeFe ERFE O SET . 4) Sl % g9k BT sTed (JratER)
= A @ wd faeew g -

(A) al,b2, ¢3,d4 (B) ad bl,c2 d3 (C) a2 b3,c4 d1 (D) a3, b4, cl,d2

1857 % wa=Ian U™ &1 Ueh Ied@-g Jedl, aredl 20 & aX & A & § &9 ¥ |@dr ¥ 2

1. SR ardfaes T THES IS T T AT | 2. fage & 9 I @R Ud ARG A & g9h J o |
3. 9% HERre H JINer & a9 | 4. IR WG Y91 T oA | 98 @1 Aga e |
= o ¥ wer fgeed gig -

(A) ®aw 1,283 (B) &A@ 2,384 (C) waw 1,384 (D) 1,2, 34

XA Bl HIhA SHILEA | TAEd dist & & # Tfyd s & 9 TXHhRK & 98 /AW g 4 a6t o
Hratage gaamEry, fadm ad 2020-2021 & 2023-2024 T & T AW THied SaaeEd MM & @ipld JaH
BT

= ®eEl oY T s -

1. THFIhA FAEET WSaH Bl S TRy THAT & MY WX 14 58 Hamd & qfer ™ § |

2. fomfaa 39 & 30-70% & faulg wRa & Torid TademEed &l UMM dad 5-10% 1

3. @ faem o v Eenfaien et 9Ee @es 9 I5gue & S1d 3AEeE By fhar s |

4, [INE T CHESed M @l hEadd 3 JEY GRma fHhtew & efaa fear s

U § ¥ e BUF g -

(A) ®a@ 1,283 (B) &A@ 2,384 (C) ®aw 1,334 (D) Hawa 1,23 4
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A vitamin that functions both as a hormone and a visual pigment?
(A) Riboflavin (B) Folic acid (C) Thiamine (D) Retinal / Retinol

The total percentage of carbon present in our human body is
(A) 18 to 19 percent (B) 20 to 25 percent (C) 15 to 16 percent (D) None of the above

During expiration the air will leave the lungs when the pressure inside the lungs must become

(A) equal to the atmospheric pressure (B) lower than atmospheric pressure

(C) higher than atmospheric pressure (D) diaphragm must contract

Select the correct option from the codes given below about greenhouse gases from the following:
i. Methane ii. Nitrogen
iii. Nitrous oxide iv. Water vapours

Code :

(A) i, iiiand iv only (B) i and ii only (C) i and iii.only (D) i, it and iii only

The Padma Awards are given in various disciplines/field of activity. Match the name of the Padma
Awardees of the year 2022 with their field of activities :-

Name Field
a) Prabha Atre 1) . Trade and Industry
b) Radheyshyam Khemka (Posthumous) 2) " Sports
¢) Natarajan Chandrasekaran 3) Science and Engineering
d) Devendra Jhajharia 4y Literature and Education
e) Sanjaya Rajaram (Posthumous) 5) Art
Choose the correct option from below :-
(A) a5, b4, c1,d2,e3 (B) a5 b-1,¢2, d-3, e-4
(©) a-l, b-2, c-3, d-4, e-5 (D) “a-2, b-3, c-4, d-5, e-1
Match List I with List II :-
List I List II
a) Dr. Dhondo Keshav Karve 1) Gandhi of Malkangiri
b) Laxman Nayak 2) Old Gandhi
¢) Matangini Hazra 3) Hindi Litterateur and Revolutionary
d) Satchidananda Hiranand Vatsyayan:Agyeya’ 4) Pioneer of Women’s Empowerment

Choose the correct option. from below:=
(A) a-1,b-2,c-3,d4 (B) a-4,b-1,c2,d3 (C) a-2,b-3,c4,d-1 (D) a-3,b-4,c-1,d-2

Which of the following is / are true regarding Tatya Tope, a significant face of the Freedom Struggle of
1857?
1. His real name was Ramachandra Pandurang Rao.
2. In Bithur, he came in contact with Nana Saheb and Moropant Tambe.
3. He belonged to Yeola in Maharashtra.
4. He led a rebellion in Madhya Pradesh and Rajasthan.
Choose the correct option from below:-
(A) 1,2and3only (B) 2,3and4only (C) 1,3and4only (D) 1,2,3and4

With a view to.position India as a global leader in technical textiles, National Technical Textiles Mission
has been approved for creation with a four year implementation period from FY 2020-2021 to FY 2023-
2024 by the Ministry of Textiles, Government of India.
Consider the following statements:-
1. Technical Textiles products are divided into 14 broad categories depending upon their application
areas.
2., Penetration level of technical textiles in India is at 5-10%, against 30-70% in advanced countries.
3., Promotion of innovation amongst young engineering/technology/ science standards and graduates
will be taken up by the Mission.
4. The National Technical Textiles Mission will be implemented through a 3-tier institutional
mechanism.
Choose the correct statements from the above :-
(A) 1,2and3only (B) 2,3and4only (C) 1,3and4only (D) 1,2 and 4 only
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Jea 38 frad g (NDRI) % @ & fe oy faar @it -

1. AyHa 338 frad serege &t e 1923 & FeR & S0fiad seliege ok THMa saas! Us afaT

% T T F3 |

2. 1936 ¥ 3@ Idifae 3l srege AW faan |

3. 1955 %, &T@ Rud aaqHe @@ 98 NDRI & @IHiaeer gafm o |
SEd 9 ¥ @E HU gy -
(A) haw 1 &R 2 (B) %aw 2 3 3 (C) waw 1 a3 (D) 1,283

O & IS Avaedl & ey ¥ e foa @it -

1. DA™ T=siE AHaRed — Fos e 2. TR TSE ARG — (dre! fSa

3. foafsen awsia SwaRed — gEes far 4. R ReTe a3sie AR — qesie
SUE W ¥ WE BUT BN GAE BT - '

(A) %@ 1,283 (B) %aw@w 1,2 a4 (C) ¥aw 2,384 (D) %aa 1,3 o4

e fram R faem S -

1) %% (FAME) gfear @™ —  qgfaRer T gd arEAl % I o

2) @ A faem wa @ —  TO-gd & At # fgerd e gedEn & T

3) frsar — WAl % W Ud frert @ qoienw Wi % faw adE ea
4) wu™ w= ¥ e — 9 e dfaat e e @ st

IS H Y B T GE AR T -
(A) haw 1 &R 2 (B) ®aw 1,283 - (C) waw 2,384 (D) 1,2, 334

gfear W Y9g ¥ (IPPB) & o & 1 & § &9 & %uw et &7

1. IPPB &I @maer 2016 & @&l TS|

2. = (Post) fawmt & siarta 100 wfastd GOl sfradt & @rer ufssn fafires suet & @ 9X IPPB @i fifirg
fepam T |

3. U afited dfd Yo Wisded &1 Y@ ey ffved Uieq 9 RiFew ol Wienfed &< gar & siats [PPB
TEIqdT 94l 9 Afed e 2 |

4. IPPB g0 @9 & T3 Garell ¥ Saw U @M a1, fofied agw @eifthee, S F9l Ziahl s
gl

(A) Sad 1,283 (B) Haw 2,384 (C) Haw 1,28 4 (D) Haw I, 3 X 4

e A9 BN § BuT T E 7

1. ¥=d 92 o fhew wiftheem (CBFC) us difafte e & <t i feel & ardwitie yas @1 famm
HT Tl

2. TEERY BIEh g MEErdr 15 e e sl @l 3feaw e uae, 1920 % uiid g9 &
ugaTd et fomar T

3. Tre iftpehe™ WieE & onyfaieter ue fsfirediseer wa & fg 2015 § CBFC 3 39T i@ qred
‘e-cinepramaan’ ®ig fepar|

4, Tt o Sifg H grmstt 9w &bm wafaal @ gemar sid 31 wEell 399 & gedl #B bew gl &R
Ty A Br srafy & foo Tt fear s #)

(A) a1 @ik 2 (B) Faw 2 3K 3 (C) Faw 3 X 4 (D) Haw 1 X 4

e e AR G2 BR T emeq (IGNCA) & Tl & 1 & § &9 § »a aer ¥ 7

1. "IGNCA, ¥&pfd w9ag & €M ARG TR & @iid U6 @Ed <OF 2|

2. ﬁwgﬁwﬁuﬁm%%&wmﬁ%aﬁﬁﬁaﬁq&mmﬁﬁgsﬁwm%ﬁwmw
fopa ¥

3. 9% ¥ (Mandate) % w0 ¥, 38 dive SRS T WELH TX AL AR ST T TR T AL
=T T R

4. g fiee wR Agfered & g @8 ea o B

(A) Faw 1,233 (B) &Haw 2,384 (C) &Haw 1,334 (D) Haw 1,2 3R 4
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Consider the following regarding the National Dairy Research Institute (NDRI) :-
1. The National Dairy Research Institute started as Imperial Institute of Animal Husbandry and
Dairying in 1923 in Bangalore.
2. In 1936, it was renamed as Imperial Dairy Institute.
3. NDRI shifted to its present site in Karnal in 1955.
Choose the correct statements from the above:-
(A) 1 and 2 only (B) 2 and 3 only (C) 1 and 3 only (D) 1,2 and 3

Consider the following regarding Wildlife Sanctuaries of Haryana :-
1. Bhindawas Wildlife Sanctuary — Jhajjar district
2. Nahar Wildlife Sanctuary — Rewari district
3. Chhilchhila Wildlife Sanctuary — Kurukshetra district
4. Bir Shikargah Wildlife Sanctuary — Mahendragarh district
Choose the correct statements from the above :-
(A) 1,2and3 only (B) 1,2 and4 only (C) 2,3 and4only (D) 1,3 and 4 only

Consider the following matches :-

1) FAME India Scheme — To promote environment friendly vehicles
2) PM Vikas Pahal Scheme — To promote development.in the villages of North East
3) Nishtha — National initiative for holistic progress of school heads

and.teachers.
4) Pradhan Mantri Saubhagya Yojana —_ Right to electricity to the poor and deprived.
Which of the above are correct matches?
(A) 1 and 2 only B) 1,2and 3 only (C) 2 3and4only (D) 1,2,3and4

Which of the following statements are true about the India Post Payments Bank (IPPB)?
1. IPPB was set up in 2016.
2. IPPB got incorporated as a Public Limited Company with 100 percent GOI equity under Department
of Posts.
3. Post Office Savings Bank products primarily focus on encouraging digital payments and remittance
whereas IPPB primarily aim at savings.
4.  Services launched by IPPB include Life and General Insurance, Digital Life Certificate, Domestic
Money Transfet:
(A) 1,2and3 only (B) 2,3and4only (C) 1,2and4only (D) 1,3 and 4 only

Which of the following statements are incorrect?
1. Central Board of Film Certification (CBFC) is a statutory body regulating the public exhibition of
films.
2. The film ‘Raja Harishchandra’ produced by Dadasaheb Phalke was released after the passing of
the Indian Cinematograph Act, 1920.
3. CBFC launched its online portal ‘e-cinepramaan’ in 2015 to modernize and digitize film certification
process.
4. The Advisory Panels which assist the regional offices of CBFC in examination of film comprise
of members who have been nominated by the Central Govt. for a period of two years.
(A) .,l.and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

Which of the following statements are true about Indira Gandhi National Centre for the Arts (IGNCA)?
1. . IGNCA is an autonomous trust set up by the Government of India under the Ministry of Culture.
2.. It has started post-graduate diploma courses to train manpower in the specialized field of heritage

conservation and management.
3. As a part of its mandate, it has to prepare the National Register on Built Heritage and Sites and
the National Register on Antiquities.
4. It is the nodal agency for the National Mission for Manuscripts.
(A) 1,2and3 only (B) 2,3and4only (C) 1,3and4only (D) 1,2 and 4 only
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T | &1 e g 1 % | s
T 1 T 11
A. HFEE AEWREY ofdade srate (i) F-gfaRid Afwd ¥ ofaveld A9 WXGME A ara
giraRid @l faar smar &)
B. v s (i) Raafeat ud wra & srman o weemel g Wiy fawm & fhy
T ARG @ Jed™ Ham |

C. WA A HaAM ST ZIH (iii) 7 SEAT BrA B GHF @1 & e Raanfsal ua SHi @
qHAAIYa® TieTera foar qon siaisd wefel § Sase gt
U B &g S= a9 T

D. THT Od W JIEh (iv) o7 faafsat & g a1 & = o aewHe gra @ity
¥ e fear @ qen ey egs BRax & frafa & S W
WEE % YAy § IREH S @ gl
(A)  A-(iv), B-(iii), C-(i), D-(ii) (B) A-(iii), B-(iv), C-(ii), D-(1)
(C) A-(ii), B-(i), C-(iii), D-(iv) (D) A-(i). B-(ii), C-(iv), D-(iii)

a9 a0 4 ®aF a1 § 7

1. 1970 % =fwmn sta faerd amr fagfamsier duifed & aren 37 &1 999 9 &4 |

2. sRQEmm 9 <91 @ dqol e 9w § |

3. @ @ w0 ar A fauEa’ A @ @ed fRETl d e Sael S| @ud arell Bad S Bl 9 o
3 g T @I ATl BEw! Bl q® qratad T 5 |

4. T M-SR A b Siata shamn # 5000 & oifdes wiar @ 24 =5 faelr omyfq e @ ¥

(A) ¥a@ 1,283 (B) *aw2, 34 (C) Fam 1,334 (D) ¥aw 1,2 a4

7% 2022 ¥ o S o e ¥ X9 2 H 40 Ifqw qigem B geiad @ ¢ | g e wue uw fan St
o1 Wi & = 3g X1 W o W &

[ 2§ Tedd ¥ 99 IUR @ B a0 el & |

YA § HeT § SAN Bl FUEIAT ¥ Iod & U K97 elan & |

srefeaeean ¥ o9 oMyfd A B & Y, a9 SR A & fou S@f @ Weted B &g RBI XU @ &
ET <l ¢ |

A fau T @i BT IUGRT BXh GEN BUAT B TG BT ¢

(A) e 1 T 2 (B) Fad 2 3T 3 (C) e 3 a4 (D) a1 3 4

@ & guie 2022-23 ¥ gt e ) faamr it

1. <o g1 & FRBM uae & ded 159 foa s g it @mn & @ m # )

2. TSN =1 & 2022-23 % BE & GSDP @1 2.98 gfdstd wieiee foram mam & |

3. foxim a¥ 2021-22 RE & faw %o & GSDP srqumd, 25 ufasd & 1 & |

4. 47 HoET SO STAT @I W Bl ST Bl 29 S A % oiEx wufed A wam ¥
IUUFT § ¥ B T HUT eI & ?

(A) Faw 1 8T 2 (B) Faw 2 3T 3 (C) aw 3 X 4 (D) Faw 1 3K 4

TN IR YHTE S 3R ol (AB-PMJAY) 391 & oH STTeH! &bl G 98+ %A arg eedl $ax
T e I s A A g e ad € ?

1. 391 & ufes @ Wigde gy eiaedl & siavid debed o 2REH HaT ERUAESIH & 7 AB-PMJAY
gfd a9 gfq afEr W @/ 599 9% B HAX el Ham § |

g ¥ar & fag ux @t & forg dard wowE wd duked ¥ |

v & | & qd # e srawensii @ e fear wem ¥ |

ST % @9 QU 39 H diead 7o § |

Fad 1 T 2 (B) aw 2 3t 3 (C) a3 X 4 (D) a1 & 4

b=

bl 4

z
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Match List I with List II :-

List I List 1T
A. Dhyan Chand Award for Lifetime (i)  Given to the overall top performing
Achievement university in the inter-university tournaments
B. Dronacharya Award (i) Recognizes contribution made to .sports

development by entities other than sportspersons
and coaches.

C. Maulana Abul Kalam Azad Trophy (iii) Honours eminent coaches who have successfully
trained sportspersons and teams and enabled
them to achieve outstanding results in
international competitions

D. Rashtriya Khel Protsahan Puraskar (iv) Honours those sportspersons who have
contributed to sports by their performance and
continue to contribute to promotion of sports
even after retirement from active sporting career.

(A)  A-(iv), B-(iii), C-(i), D-(ii) (B)  A-(iii), B-(iv), C-(ii), D-(i)
(C) A-(ii), B-(i), C-(iii), D-(iv) (D)  A-(i), B-(ii), C-(iv), D-(iii)

Which of following statements are true?
1. Haryana was the first state in the country to achieve hundred percent rural electrification in 1970
itself.
2. Haryana is the sole holder of the country’s rock salt resources.
3. “Mera Pani Meri Virasat” scheme of Haryana aims to shift farmer’s focus from growing water
consuming crop like paddy to other less water requiring crops.
4. Under “Mahara Gaon-Jagmag Gaon”, more than-5000.villages in Haryana have been provided with
24 hour power supply.
(A) 1,2and 3 only (B) 2,3:and 4 only: (C) - 1,3 and 4 only (D) 1,2 and 4 only

Reserve Bank of India raised the repo rate by 40 basis points in May 2022. Now consider the following
statements:
1. Repo rates are increased to control inflation.
2. With increase in repo rates, cost of borrowing money increases.
3. With reduction in repo rates, Industry gets loans at higher rates from the lender.
4. To decrease money supply. in the economy, the RBI hikes up repo rates to encourage banks for
borrowing, funds.
Select the correct statements using the code given below :
(A) 1 and 2 only (B).2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

Consider the following from Haryana's Budget 2022-23.
1. Revenue deficit has been brought within the limits prescribed by 15t Finance Commission under
the FRBM Act
2. Fiscal deficit has been projected at 2.98 per cent of GSDP in BE of 2022-23.
3. Debt to GSDP ratio is below 25 per cent for Fiscal Year 2021-22 RE.
4. 47 existing budgetary demands for grants have been consolidated into 29 budgetary demands for
grants,
Which of the above statements are correct ?
(A) “l-and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

Ayushman Bharat Pradhan Mantri Jan Aarogya Yojna(AB-PMJAY) provides accessible and affordable
health care to the common man in the country. Which of the following are correct about the scheme ?
1.. AB-PMJAY provides a cover upto Rs. three lakhs per family per year, for secondary and tertiary
care hospitalization across the public and private empaneled hospitals in the country.
2. It provides cashless and paper less access to services for the beneficiary at the point of service.
3. Pre existing conditions are covered from day one.
4. Benefits of the scheme are not portable across the country.
(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only
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e § COP 26 § ARG & iadrg uikaas & Hfafad 7eie (nectar) Il &l Uaism fam o :
2030 @ 1000 GW R-sfrenen wuif HRS @b wga |

2030 T TR FHoit wrELal H 50 Uided T St 9 |

AT ¥ 2030 % P U (projected) HEA IsAl § Uh faferaT = HF HIr |

2005 % WX 9 T @ wree faadr ¥ 2030 d% 45 wfavd @ der |

2090 T < SR IS Bl Wed U BT |

ﬁwﬁ@raﬁﬁﬁmmﬂﬁ%?

(A) Faw 1,233 (B) &aw 2,384 (C) Faw 3,45 (D) &aw 1, 48X 5

Wiﬁf$400%ﬁ1ﬂ?aﬁﬁﬂhqﬁ§ﬁuﬁ$ﬁwaﬁﬁaﬁﬁ?aﬂﬁ%ﬁﬁ(commodmes)%-
3. 9 Td Sgad 4 qrae
(A) %@ 1,284 (B) ¥aw@ 1,3em4 (C) ¥aw 1,283 (D) ¥aw@ 2,3 oiw 4

T A9 Sfafi ST @ T YT § S aeiel T0 ¥ A Aagds ®l 9qh Brad § SEdl sl
T T BT H G goRd BN ¢ | @ & e A 7 wodl § 9 w9 ayd wd 3R -

1. T 6 AfeAl 1 T | BEIHA & |

2. wftrggsfl B TR BT I BERIE U yidneror feam s ¥ o

3. omfeafi g9a & R, wirgsht w @i o e T8 s § o

(A) haw 1 &R 2 (B) had 2 (C) &aw 3 (D) haw 2 3% 3

feeMmAdaR g ad e ?

1. e & ad &% SR 39 &1 Wi A9 & WiaY Sdifed 991 sifom argel 9 Fanst & aeR qedl @
e GDPyp BT & |

2. Ife fRE 3 & GDP 9% W 8, TRUEEd &eaml 56k STaR Jig oasddh el ¢ |

3. ditem@ GDP & fra@@ GDP @t eurd GDP era@#iiices (Deflator) ®earmdm & |

4. fraa GDP & ¥iftsi@ GDP @1 @igurd GDP srg@hifae (Deflator) Heemar & |

(A) Faw 1,233 (B) &aw@ 2,384 (C) Haw 1,334 (D) &aw 1,2 X 4

fewfafimem 2022 o= A FR A S M T Twa & ?

1. 3% Sfrmema St g, gl A smaifaa fear e |
2. 38 1 U@ § 15 o 2022 e erEieid fepar T an |
3. RAY Aol 3 FA 16 98H S o |

4. gHa =fear 3 @ o e HAsdA Sirar o |

vk

(A) Haw | (B) dhad 2 (C) &aw 3 (D) haw 3 @R 4
TG T hew T WRST % I U A 956 HRA UieiHe Afged diF & Tad & ?

1. To0Q : saEe 2. HERTE : enfesm

3. T : e 4. d2me SR ggull @ TEW 9 TR EAel SR T e
(A) Faw 1 (B) aw 2 (C) %aw 3 (D) ¥aw 4
T 1 ¥ fou o geer el & fas g @l 1§ ode saRafa @ #ifig -

T 1 @ 11

A. AT val STy (i) Pgu

B, ®x@X #| (i) shamn

C. & & Aa afer (iii) T

D. greeE id (iv) SO o9

E. ey a=eie ey (v) ™
(A)  A-(iv), B-(i), C-(v), D~(iii), E~(ii) (B)  A<(iii), B-(i), C-(iv), D~(v), E-(ii)
(C)  A-(iii), B(i), C-(v), D~(iv), E-(ii) (D) A-(i), B-(v), C-(iii), D-(iv), E-(ii)
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India presented the following nectar elements of India’s climate change at COP 26, in Glasgow:
1. Reach 1000 GW Non-fossil energy capacity by 2030.
2. 50 per cent of its energy requirements from renewable energy by 2030.
3. Reduction of total projected carbon emmissions by one billion tonnes from now to 2030.
4. Reduction of the carbon intensity of the economy by 45 per cent by 2030, over 2005 levels.
5. Achieving the target of net zero emissions by 2090.
Which of the following are correct statements ?
(A) 1,2and3 only (B) 2,3and4only (C) 3,4and Sonly (D) 1,4 and. 5 only

Top three commodities by percentage contribution in India’s export growth of $400bn are:-
1. Engineering goods 2. Petroleum products ,
3. Gems and Jewellery 4. Rice

(A) 1,2and4only (B) 1,3and4only (C) 1,2and'3 only (D) 2,3 and 4 only

The National Apprenticeship Training Scheme is a programme equipping technically qualified youth with
practical knowledge and skills required in their field of work. Which of the following statements are
correct about the Scheme?

1. It is a 6 months programme.

2. The Apprentices are imparted training by the erganizations at their place of work.

3. During the period of Apprenticeship, the Apprentices are.not paid any stipend.
(A) 1 and 2 only (B) 2 only (€)> 3 only (D) 2 and 3 only

Which of the following statements are true:?
1. GDPyyp is the market value of all final Goods and Services produced within the geographical
boundary of a country in a year.
2. If the GDP of a country is tising, the welfare may not rise as a consequence.
3. The ratio of nominal GDP to Real GDP is called GDP Deflator.
4. The ratio of real GDP to nominal GDP is called GDP Deflator.
(A) 1,2and 3 only (B) 2,3 and 4only: (C) 1,3 and 4only (D) 1,2 and 4 only

Which of the following is-incorrect regarding the Deaflympics, 2022?

1. It was held in Caxias Do Sul, Brazil. 2. It was held from 15t April to 15th April, 2022.
3. Indian athletes won a total of 16 medals. 4. Sumit Dahiya won a gold medal in wrestling.
(A) 1 only (B) .2 only (C) 3 only (D) 3 and 4 only

Which of the Ek Bharat:Shrestha Bharat Engagement Matrix between States and UTs is incorrect?
1. Gujarat : Chhattisgarh
2. Mabharashtra : ‘Odisha
3. Goa : Karnataka
4. Chandigarh and Puducherry : Dadra and Nagar Haveli and Daman and Diu

(A) 1 only (B) 2 only (C) 3 only (D) 4 only
Match the Ramsar Sites in List [ with their locations in List II :-
List 1 List IT

A, Nawabganj Bird Sanctuary (i)  Tripura

B." Rudrasagar Lake (i) Haryana

C. Tso Kar Lake Complex (iii) Kerala

D. Sasthamkotta Lake (iv) Uttar Pradesh

E. Bhindawas Wildlife Sanctuary (v) Ladakh
(A) A-(iv), B-(i), C-(v), D-(iii), E-(ii) (B)  A-(iii), B-(i), C-(iv), D-(v), E-(ii)
(C) A-(iii), B-(i), C-(v), D-(iv), E-(ii) (D) A-(i), B-(v), C-(iii), D-(iv), E-(ii)
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